Recall ]a«-(;)ila‘%fb) | ’9&*!2,} é[a[#—[b/
= BIX+X[1) & EQi+1Y1)=ED+E(v)

NM‘_
E()(K> — k O e (K’/)Z’)”' )

T Vat) = EOC) - [BX)) = B (eu)®
7\

T = SD(X) EX)
g:EM>=CW)>
5K, ) el %)
i k /\./L/—\ ~
wulf) = Et-0)) = LB 4)
KX ( IX & &,{ £ N |



Nt X'y wumesvaclaes (W<X;)Xo~)> 0 ’57ﬁd>
9 Vol K )= B e v Vel )

/

@ \e(X )= HKX') — »n

L)S‘b& lormedt & E(Ka XO.)






X — X ; )(m/)‘/() KMV/X
AM’%A ) /Arm//\/q_ D /A}ﬂ/t \///4
MCT Greem ). 0 X TX = BX )1~ HX)
Nt A TA= T T T
m A—m /”A
= BT, V7 EBL,) ()
= P& BB
Y AUAD A TA
= WAS) 2 RAT) > Pl 1= pp)

)ﬁ — X 9 /QW//V?/ZZ\ F(\/U)on
759% EX,.. 5/_",()()




fopplieatin, A A
= T, > L,
= BT, )= ET,) (DcT)

() = $ewb
10 o
— Y,

o /
Z = [R5k

Ty ()
/Ij\
—_——

\f\/’ >00~§L
B



ﬁ,/— @{(w)>© v

EZ;/WWS “efh
E.(y = w%gm{@)
Ntz %: =N




[P~






Mt X2 XZX
%}:X 1:‘( < o0 %ﬁi@(")O/

S WQM/Z?W PX-0)=/.
Lpobn oA .
PX>0)= P(g,%ﬁ%)

Boolt oo

PEN
K=,

CA =Y S g,

[< '.>/




6@ |

‘3[/&




Mﬁ@@ < 1Al

& AN E@(XDS FIX 1) /e
— P((X (20 ) & E((X/)/c

X’Mf?KG‘ = )

KZG”L:S < L (X/M>

=y

'

(X—/ﬂ

























